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2019
ECONOMICS
( General )
Paper : 6.2
( Planning and Development in India )

Full Marks : 80
Time : 3 hours .

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamesé

1. Answer the following : A 1x10=10
w7 e Bed fia -

(a) What is democratic planning?

TR w7

(b) When was the NITI Aayog’ of India
constituted?

TEAST “NITI Sy’ (Roan s <41 et ?
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(d)

(e)

(9)

0)
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(2)

What is the main aim of Import
Substitution Policy of India?

SRS wrm Rew A 330 Toen R 2

Define the term ‘economic globalization’.
AR PRy vicen o |

Give one argument for favour of
privatization of Indian industries.

SRS BT [EFARR w1 I

o

What do you mean by SGSY?
SGSY Wiew f gun 2

Is India a mixed economy? Give one
argument.
TS 99 e WA ot T 2 By 3 o o

Mention one objective of ‘Act East Policy'.
“R R T bt S SEy T

Write the full form of NEEPCO.
NEEPCO-¥ o ot foran |

Write one important cause of slow
€conomic growth of India.

?ﬁ:ﬁﬂﬂﬁwmaﬁmﬂm‘l
|

( Continued )

(3)

2. Answer the following questions : 2x5=10
o7 il eppTE T fam

(a) Mention any two sources of resource
mobilization of India’s Five-Year Plans.

SRS AN ARFEIHE fE @R {

I Wo1 TR 7 ey 71 |

(b} Give two arguments in favour of
economic reforms in India.

SRS SRARTT AT I o1 I 7o |

(c) Write two objectives of MGNREGA.
MGNREGA- 731 ¥7#0 o1 |

(d) Mention two functions of Planning
Commission.

*RFEA ST o1 I ST 40 |

fe/ Why is the economic growth rate of
Assam slower than all India average?
Give two arguments.
TR AT T g7 oSy op ST
TSl N 2 91 IS o o
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3. Answer any four of the following questions :
5%x4=20
w7 il oPIARR R e oiRR Ted i

{a) Discuss the achievements of NEC.

TR TR STEOPTR AXAGA 1 |

(b) Is there any need of foreign investment in
the context of policy of economic self-
sufficiency of India? Give reasons.

TR LT TSIl Aifes AfceRros
W RERGR @ EE AR S 2
FRPIR T F

{(c) Distinguish between centralized and
decentralized planning.

@Age W Refigo “RFEAR N4 e |

(d) Analyze the salient features of India’s
Five-Year plan.

SRR KA ARFEAR [0 QEEPER I
L2l

(e) “The Five-Year Plan of Assam is a carbon
copy of Indian Five-Year plan.” Do you
support this view? Give arguments.
“STR AYIRE RTE T SR AT
AR @% T R 1 R o T
T4 2 3 faan o
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4. Answer the following questions :

(S)

Explain the various features of
decentralized planning of Assam.

R Rehire Rewm [fen  wEMEpmR

RUSIIEAIN

wors fi ehPTeR s il

{a) How are the strategies and goals of

A9/768

economic planning in India changed in
the post-liberalization period? Explain.

SAAFIN A S  SRSA ‘Wﬂtﬁ@$
ARTFTAN FPE IF IR QAP ARG
=R, [ TN

Or / 9«1

Describe the achievements and failures
of Indian planning during post-
liberalization period.

TR TARRAR [_TD HeREATS  fRFHAN
AFerSl S REASPHR I 31 |
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(b)

()

(6)

Examine the role of Foreign Direct

Investment during the reform period of
India.

AT AT IR O[S FOFH LT
Rfvansa gt «fm #11

Or / ==

Discuss the present composition of
foreign trade of India.

T2 IE© SHR Qe AfEE A
T 11 |

Describe various achievements and

failures of decentralized planning of
India.

SReY Reefige “Rewr RARa el O
Reereormz 3w 711

Or / 9t

(-}ive the arguments in favour of
liberalization of industrial sector in
Indian economy.

SR SRS T 167 SiReam o
< YTz faan o

(7)

{d) Explain five important poverty alleviation

programmes implemented by the
Government of India during recent times.

APRfET TWIAS TS ST A 340
53w 0 7Ree! [AFIT SR 70 =47 1

Or / 937

What do you mean by poverty line?
Explain various causes of poverty in
India.

wReor faren T B W oA Reer
RfeR FRTIR MW A1

&k w
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